AR PHASE BAABHAE  1088E RSN EAEEBNA
108406 03 EL £ B A o
‘éﬁf"#}‘% EETIE A | & B | G AR T] (ROt | EEh] Brrsend | R | E L] SR BRI
R
EHKAEE
0 LRI $230,465
) B $9.750 BB A)F250GE)
2 AR $125,136
SEEEREAIS B
0l 3 KEGEBEEK $83.879 B B G -
B
4 D $2.510 bR
5 REEBN FAULA $9,100 319,100
6 IS $90
R HOEE
Lol o [mam $109,254 4%
1| 0 |smEm $109254
R HIT A AL S
1 KIEH) $108,879 gky’ﬁm@i‘ﬂ $90,000{ $108,879 121%| f2E 58 > SR
s HIA A5 B )
2 HEED $69 HERRGIIERIRIES 6 so0) 50 30 |RERRIZ » FLATEST
HE~ R AT o
e s DA 5 -
3 N %0 if‘;??gé\;ﬁ HE g 000 50 0% [BRfR ST EES) - 7
ST S DA -
o _ A L B
4| mwEmmEe $306 FAHE R T B I i i
210 o B $7,008 3%
1| o | $248
R - IEE4 - 4 HIRN B B e
| BRI 50 15 BT A £R| $1,000 50 0% | FEBEFERBE D » FTbL
¥ CDH - T BER R E -
BT~ /RN ELT
o S S % RIS R
2 FE i $248 S~ RS $1,000 $248 25%| & s il -
2| o |t $677
. HIT S B R E A
B SR AL - TR - 5 REORLH
1 YA $677 %iiﬁg%l%i $1,500|  $677 45%;:&%%@%&%&
3|0 |[xEEs $142
IR 7O E T == |
1 pa-t $142 Bkt $500 $142 2%/ B > iR B ER
4| 0 &g $6,331
SRR N (1
! FhiA 50 $3,000 50 0% | AT R LB o
B -
i BRI - - B S B3
2 LRI 36831 i $10,000( 86831 C L it
510 |#E $100
B NI
1 (Rt 50 E R $1,500 50 0% |t £ - LB =S
6 -
HIA AL S B S
2 EEE $100 EEE $1,200( 100 896 [FERTEBL L - FTLL
IR T -
3000 |2En $2,845 1%
1| 0 |EHAHE $2,845
B - WETE - 2 HIP AL S B
1 iy $1.084 WOBDKEWAE | $1200| 1084  o0%|EErEEEEE - HUIE
ST - SIS SEB R -
e e o I A S D
1| smEmEE $1.761 I SR o0 g6 176%| % - e - B
o it -
F=i-18 $120,097 52% $117,600| $120,097 102%
L5 $110,368




